Grade 10 Mathematics
Analytical Geometry
Exercises for home

Exercise 1

Determine the length of the line segment between the following points:

a P(=3;5) and Q(-1;-5)
b) R(0,75;3) and S(0,75; —4)
o T(2xy-2)and U3z + 1;y-2)

Answer Exercise 1

RS — J(z‘g—zl)2+ (14 —w)?
= /(0,75 -0,73)% + (-4 - 3)?
=0 +(-7)

=19

= T units

b.

TU = \/(12—1'1)2*-(!12—!/1)2
=@z +1-20)? + (w—2—uy+2)?
— =+1)?

C. = x + 1 units

Exercise 2
Find the Gradient between the following

points
Alxr— 3;p) and B(zx;p + 4)
Let the coomingies of A be (x;; 1) and the coordinaies of B be (z3; )

nn=z—3 pjp=y =z pm=p+4
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x—(x—3)

MaR

Il
o] i

Exercise 3 Exercise 4

Answer to Exercise 3 and Exercise 4

Determine the Midpoint
between the following points:

C(5:9), D(33;55)

Determine the Midpoint
between the following points:

Bz + %y -1), Flz -5y 4)

Exercise 5

You are given the iollowing dizgrarm:

A{—=2;1)

2..

K

3

S O R T T
1+

Miz;wl_g
N

-4 1 B{1; —-3.5)

Caloulate the coondinates of the mid-point (&) between point A{—2; 1] and point B{1; -3,5).

Exercise 3
_fTy Iz Wt
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= (14; 32)

Exercise 4

Mgy = [I] +IE; B ;m]
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1+2+1—5_|.|—1+y—l1

2 ' 2

- (=52%5)

2 2

)

Page 1of 2




Exercise 5 Answer Exercise 6
Lat the coomlinates of A be [, ;g ) and the coordinates of B be (zz; ya). ¥
g = -2 pi=1 =1 p;=—3_,5 4+
Substituta values into the mid-point formula: gl Bi1;3)
T e o Sl 2"/
Mizy) = (25222
. I+ Tz T
2
941 — — x
-— 3 -1 A I
=05 -1t
—— ;5' Al-2-15 ol
1+(-35)
B 2
— 1,25
The mid-point is at M {—0,5; —1,25). Caloulate the gradient {m) of line AB.
Exercise 6 Answer Exercise 7
nn=—2 pm=—-15% =1 =323 ¥
_ FE " ¥a A(-1,2)
IR —Xa \\\‘
_ 3 - [=1.5)
(- (-2) \
_45 B(2;05)
3 ' ' ' ' -
= 1,5 -2 -1 1 2 3
Exercise 7 Answer _ .
Caloulate the gradent (m) of line AR,
mp=—1 =2 Ez=2 =05
EQUATION OF STRAIGHT LINE
_ HH — NMa
—IH — Summary
|:ﬂ_l5':| — [1] It you know Formulae to use
o |:_E :| e G 1 ] The gradient and the y-intercept y=mx+c
. 1 5 The gradient and the coordinates of at least Y-y =mx—x)
= T" one point on the graph. ory=mr+c
— _D_. 5 Two points on the line: first calculate the m =:E-_‘%-i- and y =mx+ ¢
gradient and then substitute into y = mx + . o
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